Economics 12PRIVATE 



Quiz B
Spring 2006
Please answer all three questions.  To receive full credit, you must show any work you did to arrive at your answers.  Good Luck!!

1.
Use the information below to find national income, net domestic product and gross domestic product:
Net Exports = 

$    70


Corporate Profits =        
$260 

Consumption = 
$  800


Government Spending = 
$750

Wages & Salaries =  
$1200


Proprietor's Income = 
 
$  80

Interest Income =   
$  175


Depreciation =        
 
$130

Rental Income =     
$  105


Indirect Business Taxes =  
$155

Savings = 
          
$  190


Transfer Payments = 
 
$340

Personal Taxes =    
$  120

National Income

Net Domestic Product

GDP

Part b – Calculate a figure for investment spending?
Part II – answer all parts

A.
Identify the type of unemployment (frictional, structural or cyclical) implied by each of the    following:  

Unemployment as people seek to change from retailing jobs to those in 
marketing___________

Jane’s layoff due to the long-term decline in the cigarette industry___________________

Unemployment arising from the switch from typewriters to computers____________


Job losses in the banking sector due to declining demand in the 1991 


recession____________________________
Jim’s unemployment when he quits his job to return to grad school

 ___________________________________

Layoffs at Ford due to recent poor sales_________________________________________
B. Suppose the following represents the monthly consumption of a typical consumer:





3
Pizzas





2
Gallons of milk





4
bags of oranges

In period 1, the pizzas are $12.00 each, the milk is $3.50 per gallon, and the oranges are $4.00 per bag.  In period 2, the pizzas are now $12.50 each, milk has risen to $4.00 per gallon, but the oranges are now only $3.75 per bag.

a.
What is the cost of the market basket in each year?  What is the implied inflation rate?
C.
Given the information below, calculate real GDP for each year:





Nominal GDP

Price Index





$9,500 billion


1.00





$9,700 billion


1.04





$9,850 billion


1.09

